Repaso de la concordancia del tiempo:
Español 4

¡Recuerden! – Las tres partes de una frase subjuntiva.

                  1                              2                           3
Los usos de WEIRDO   + QUE =  Verbo en el subjuntivo   
La clausula principal	           La clausula dependiente

** The verb in the DEPENDENT clause can only be subjunctive if the verb in the main clause is a WEIRDO use and the person in the first part (main clause) is different from the third part (dependent clause)

** The tense of the verb in the dependent clause is DEPENDENT upon the tense of the verb in the main clause.

Ejemplo:  

            1        2            3
Yo quiero que tú vayas a la playa.

**The verb in part 1 is a WEIRDO verb, in the present tense.
** There is a change of subject from part 1 to part 3:  part 1 = yo, part 3 = tú  (not the same person)
** Because the verb in part 1 is a WEIRDO verb and in the present tense and there is a change of subject, the verb in part 3 has to be in the Present Subjunctive.


Ejemplo:

            	       1             2            	3
Tú recomendaste que yo fuera a la playa.

**The verb in part 1 is a WEIRDO verb in the preterite tense.
** There is a change of subject from part 1 to part 3:  part 1 = tú, part 3 = yo  (not the same person)
** Because the verb in part 1 is a WEIRDO verb and in the preterite tense and there is a change of subject, the verb in part 3 has to be in the Imperfect Subjunctive.


[bookmark: _GoBack]This is what your thought process should be when deciding which tense to use in the third part of the subjunctive sentence.
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